H & 0l & AHS B Ml A

QA G ERD
M IR0 D] E2 SAAMEIA MS
el E2 MBI 243t EEREE)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
ZH 35,183,302 34,180,302 1,003,000
= 9,875,627
Jl 6,898,864
= 3,599,084
Al 14,800,727
0l &)l 22 SAMHIA S 34,934,899 33,991,459 943,440
= 9,875,627
) 6,898,864
= 3,548,324
Al 14,612,084
HEel AlRIEN gdat 198,140 260,790 62,650
= 8,820
Al 189,320
gEH A2 17,130 44,380 N27,250
201 er2 3| 3,300 5,300 /2,000
01 AtR2te|HI 3,300 3,800 A500
O8ES?E3 22 H&
100,000 *7 & *43] 2,800
ONBHBEIIZIAS 319 ML
100,000& x5 & *12 500
203 HR=H| 13,830 13,830
03 A= L2 FAIH| 13,830 13,830
OA=T 2 Y%
13,830,000 13,830
Hdd et Al &4 141,090 206,090 265,000
201 fer=3| 113,090 112,090 1,000
01 AtR2te|HI 108,090 109,090 21,000
OdEgeEll & o o= &8 us
1,000,000 #22] 2,000
Ol dzlatzAl MY Agdst s o
A2 2,600,000& 2,600
OCi4&lstEAl ZHEANM sZ3H -
100,000 x15E*23] 3,000
Octal 2018ty 22 22l - 2g
330,000 2504 2% 123 99,000
OO & EIStAI (Qral Bl 228 29 §) &
= 1,490,000 1,490
03 A= SHI 5,000 3,000 2,000
OXEEAM, ANUBHE Sl HALZ
fes 5,000,000& 5,000
207 AR 20,000 0 20,000
01 H7ESHI 20,000 0 20,000
OdoXNEAH 75 89 20,000,000 20,000
301 EtE NS 8,000 12,000 24,000
11 dALEEIXIE S 8,000 12,000 24,000




2A:

(GESESEN))

ZW: IR0l 4| 2 =X
Selr 6 AlRIEN 243t (SH9 H2)
SA - BB - C9I(3 o - BaS ofl &t A HIDEZ
OxdEalH, Al et A
el 5,000,000& 5,000
OW-E&S Al Al S8l X
10,0002 +50& *62] 3,000
AL & A2 10,520 10,320 200
201 er=3| 10,520 10,320 200
01 At22t2lt] 1,320 1,320 0
ORelFHl AIAE
110,000& »12& 1,320
2 s5=34l 9,200 9,000 200
ORAN 8&82= & 8,000,000& 8,000
OXr&=All 1,200,000 *1CH 1,200
&S IHIIX 2SS At 29,400 0 29,400
< 8,820
Al 20,580
301 2P EN= 29,400 0 29,400
& 8,820
Al 20,580
03 A2l 2 & X +=5l= 29,400 0 29,400
O g1+ Y IHIIAl ESAtY
29,400,000& 29,400
= 8,820
Al 20,580
e & 348 =X8d 6,418,264 5,787,078 631,186
SHANHEE~E 5,956,251 5,787,078 169,173
306 E= 5,956,251 5,787,078 169,173
01 £g= 5,956,251 5,787,078 169,173
OREAIMEE A 28 £9=3
5,956,251,000& 5,956,251
282532 2L (XA 457,733 0 457,733
308 XXM SOIA 457,733 457,733
n3J2Sterd e Bl 457,733 457,733
O=Z0=S0tg Ald2c] ASAIY]
457,733,000 457,733
82332 2 (MASHSI201H) 4,280 0 4,280
403 AXIEHHSAH=201H 4,280 4,280
02 SIS0 StA=2 uf 4,280 4,280
OEZUH=0tg Al SIEFAISHI
4,280,000 4,280
HE=sXIAIE K& 1,654,387 1,290,529 363,858
= 362,190
Al 1,302,197
eI HE =2 289,800 280,276 9,524
= 86,940




2A:

(GESESEN))

3 IR0 D] E2 SAAMEIA MS
el HE=XIAE X (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 202,860
307 gl2tol & 289,800 280,276 9,524
=S 86,940
Al 202,860
10 Al SXA2EE 22X 289,800 280,276 9,524
OojgelsigdE 2 X
289,800,000 289,800
< 86,940
Al 202,860
JEHE od FHEXNE 315,000 300,000 15,000
= 94,500
Al 220,500
307 @20l & 315,000 300,000 15,000
=S 94,500
Al 220,500
11 AMISXAIEEX 315,000 300,000 15,000
OO (9E FYXL
126,000,000 126,000
< 37,800
Al 88,200
ODste - D Uxel HYX
63,000,000& 63,000
= 18,900
Al 44,100
O - ZH0d HLXH 126,000,000 126,000
< 37,800
Al 88,200
HEEHSHS S0t= EX17=F 160,000 0 160,000
= 80,000
Al 80,000
401 Al HIZ S 0HbI 120,000 0 120,000
= 60,000
Al 60,000
01 AlZ2H| 120,000 0 120,000
ON&EHYEAS S0t2 =4 2|22
120,000,000& 120,000
== 60,000
Al 60,000
405 AHAHE S 40,000 0 40,000
= 20,000
Al 20,000
01 MMM ESFSHI 40,000 0 40,000
ONLZUEUE BOIZ FI| L HIBRY
40,000,000 40,000




2A:

X XH -
o=

o

CESESE,

JIE0l 40| E2 =SXAMHIA MBS

el HE=XIAE X (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 20,000
Al 20,000
HEEHEHLS B0t= 24 52,500 0 52,500
= 15,750
Al 36,750
307 gl2to| & 52,500 0 52,500
=S 16,750
Al 36,750
11 ARRIS XA E X 52,500 0 52,500
ON8FH2HS B0t= 2 N
52,500,000 52,500
== 16,750
Al 36,750
L X2ME 29 587,087 460,253 126,834
307 elztol & 587,087 459,653 127,434
05 2I2tRIE S 587,087 459,653 127,434
Og X3y 2gX&
587,087,000 587,087
2 - dE DE K3 250,000 250,000 0
== 75,000
Al 175,000
307 212+01& 250,000 250,000 0
< 75,000
Al 175,000
02 2IZHB A E & 250,000 250,000 0
Odg - dg 28 NI
250,000,000 250,000
= 75,000
Al 175,000
HeEMZLob|ME 2 707,438 756,575 N49, 137
= 448,239
= 123,527
Al 135,672
MEHE XNE2S(FEEHA 2¢) 288,264 285,000 3,264
= 144,132
= 72,066
Al 72,066
307 elztol & 288,264 285,000 3,264
= 144,132
[ 72,066
Al 72,066
11 AMEISXAEEES 288,264 285,000 3,264
OF G EAH AL Q121b] 288,264,000 288,264




2A:

E M

o

M XA X |.

OO_\

=0l &) 22

== SAAMEIA WS

=T

Cel: HEMZoINE 22 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2

= 144,132
=S 72,066
Al 72,066

MHE XE2S (82223 ]) 14,814 14,815 A
= 7,407
= 3,703
Al 3,704

307 @12t0| & 14,814 14,815 A
= 7,407
= 3,703
Al 3,704

11 AMEISXAIEEXS 14,814 14,815 A
OMZHE ou=dsl 14,814,000 14,814
= 7,407
= 3,703
Al 3,704

NLHE XIE29(Atg2teldl) 12,000 15,000 23,000
= 6,000
= 3,000
Al 3,000

307 elztol & 12,000 15,000 23,000
= 6,000
[ 3,000
Al 3,000

1 ARISIAIEE £ 12,000 15,000 /3,000
OAtg 2l 12,000,000 12,000
= 6,000
== 3,000
Al 3,000

NMEH XTE2S(MLod 8l 29) 209,000 258,000 249,000
= 167,200
== 20,900
Al 20,900

307 212+01& 209,000 258,000 /49,000
= 167,200
S 20,900
Al 20,900

1 AMISXAIEEX 209,000 258,000 49,000
ONEoE IEM =23 209,000,000& 209,000
= 167,200
= 20,900
Al 20,900

NLHE X2 (Hgunssd S2AHY) 94,000 94,000 0




SN O™
33 R0 &) E2 SXAUIA S
Cel: HEMZoINE 22 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 94,000
307 gl2tol & 94,000 94,000 0
= 94,000
11 AMEISXAEEES 94,000 94,000 0
OZEHENY MPus2ad N3
94,000,000& 94,000
= 94,000
MUY X2 (ZASHEMLXR AZHI) 59,000 59,400 A400
= 29,500
== 14,750
Al 14,750
307 212+01& 59,000 59,400 A400
= 29,500
=S 14,750
Al 14,750
11 AMISXAIEEX 59,000 59,400 A400
O3=EHE WYXE At
59,000,000 59,000
= 29,500
= 14,750
Al 14,750
NLHE XE2S(ER2 MAHEH]) 30,360 30,360 0
[ 9,108
Al 21,252
307 glztol & 30,360 30,360 0
= 9,108
Al 21,252
11 AMEISXAEEE 30,360 30,360 0
OMZHIE SAHAH A XM <IHEHI
30,360,000& 30,360
= 9,108
Al 21,252
g2 sd 1,917,282 1,728,945 188,337
= 182,598
) 641,784
& 369,526
Al 723,374
S3I12 40 =32 o u=s 11,400 11,400 0
201 er23| 11,400 11,400
01 At2teltl 11,400 11,400
OXTU ANZ(HEIZ - HOYOH - =21 -
IHEEH) lgus 800,000 *82 6,400
OHATIIESAIAY Ws
5,000,000& 5,000
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2A:
PSR
ool

014 M 24}
=0l A0l B2
olgRel S

[l

SXNAHIA HS

SA - ZE . BR(8) - HRAR - BES of v e HIDE2
7l 141,323
=S 28,141
Al 104,815
05 git?(& = 264,279 223,430 40,849
ONFBALN EBAL 2
264,279,000 264,279
7l 131,323
S 28,141
Al 104,815
11 AMRISXAEEES 10,000 5,000 5,000
ONEZALHT 2SAL 22 NA(S4
INIPNI=PNEEE=) 5,000,000& x2H 10,000
Il 10,000
IS EY oA ESAIE 29 X (HI=2 &AHHI) 11,200 11,200 0
7l 11,200
307 elzto| & 11,200 11,200 0
Jl 11,200
11 AMEISXIAEEES 11,200 11,200 0
ONEHZAWBNN ESAIL HISZ M)
A& 11,200,000 11,200
Jl 11,200
=S TohAt 2SAlE 29 X2 (HdEddl) 4,892 4,470 422
Jl 3,424
s 734
Al 734
307 @I2t01 & 4,892 4,470 422
7l 3,424
= 734
Al 734
1 AMEISXAIEEXS 4,892 4,470 422
ONEZATSHT SBAL 29 N (Xl
Sgtl) 4,892,000 4,892
Jl 3,424
= 734
Al 734
I EZ™ HIoiA ESAE 28 XA (IsEZ) 10,000 7,205 2,79
Jl 5,000
= 2,500
Al 2,500
307 gl2to| & 10,000 7,206 2,7%
Jl 5,000
= 2,500
Al 2,500
1 AMEISXAEEXS 10,000 7,205 2,79




2A:

(GESESEN))

3 JIE0| AD] £2 SAIMHIA JH3
=t ogde & EEED
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
OGN EBAE JIs22|
10,000,000& 10,000
| 5,000
= 2,500
Al 2,500
NE=S OIchk 2lzd| K& 10,750 9,652 1,098
| 7,510
= 1,610
Al 1,630
301 LPENSZ 1,500 500 1,000
| 1,050
T 225
Al 225
01 AISIBE X262 (2 LEZME) 1,500 500 1,000
OJME =TIt 2 24| XI&
1,500,000& 1,500
| 1,050
T 225
Al 225
307 QIZ2t01 A 9,250 9,152 8
| 6,460
T 1,385
Al 1,405
11 AL =SXAMSES 9,250 9,152 o]
OIS =S TIoHAE 2 AIE 2lzd] X3
9,250,000& 9,250
| 6,460
T 1,385
Al 1,405
I8 == Tlohkt Xz 38 XY 29 24,721 19,495 5,226
| 17,305
& 3,708
Al 3,708
307 212+01™ 24,721 19,495 5,226
| 17,305
& 3,708
Al 3,708
11 AL =SXAMEES 24,721 19,495 5,226
ONE=ZToHA XgE - 3l8 T2 29
24,721,000& 24,721
| 17,305
& 3,708
Al 3,708
NEES JoiA ¥ - Xg Z20Y 29 20,425 21,553 A1,128




2A:

X XH -
o=

Ol Z B}
JIE0l 40| E2 =SXAMHIA MBS
olgzel S

chl: J (=CR-E))
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
7l 14,297
=S 3,064
Al 3,064
307 @I2to| & 20,425 21,553 A1,128
Jl 14,297
= 3,064
Al 3,064
1 AMISXAIEEXS 20,425 21,553 A1,128
O =0tk W - g 228 28
20,425,000& 20,425
Il 14,297
= 3,064
Al 3,064
8= 42 =29 345,580 329,976 15,604
Il 172,790
= 86,396
Al 86,394
307 el2to| & 345,580 329,976 15,604
Jl 172,790
== 86,396
Al 86,3%4
10 Al SXAEEHE2EHI2x 345,580 329,976 16,604
otg=E=4g4 29 345,580,000 345,580
Jl 172,790
[ 86,3%
Al 86,3%4
&= Wollkt 2/=Hl XI& 49,460 50,646 A1,186
Jl 34,622
& 7,419
Al 7,419
301 2EN= 500 500 0
Jl 350
s 75
Al 75
01 ARRIE2HHSHS(SNEXHE) 500 500 0
Od=Zdmloi At 2=l X2
500,000 500
Jl 350
=S 75
Al 75
307 212+01& 48,960 50,146 A1,186
Il 34,272
=S 7,344




DR
D IR0l D] 22 SXIAMEIA MBS

AT

[l

SA - B SRIBH) - MRAR - BAS A HIDEZ
Al 7,344
11 AMEISXAEEXS 48,960 50,146 A1,186
Od=8 Lokt XIFAIE 2l=dHl K&
48,960,000 48,960
Il 34,272
= 7,344
Al 7,344
SZ& IlollA X2 - 28 T2 29 10,030 10,000 30
Il 7,021
= 1,504
Al 1,505
307 2I2t01 & 10,030 10,000 30
) 7,021
= 1,504
Al 1,505
1 AMEISXAEEXS 10,030 10,000 30
Od=gUloiit A= 8 29
10,030,000& 10,030
) 7,021
S 1,504
Al 1,505
428 o454 28 278,304 268,196 10,108
) 139,152
& 69,576
Al 69,576
307 glztol & 278,304 268,19% 10,108
Jl 139,152
< 69,576
Al 69,576
10 Al2ISTIAIEEE2HIEX 278,304 268,19% 10,108
Od==dEA 29 278,304,000 278,304
Jl 139,152
s 69,576
Al 69,576
Cola==E0gL= 40,000 356,000 5,000
& 12,000
Al 28,000
307 glztol & 40,000 356,000 5,000
= 12,000
Al 28,000
11 AMEISXAIEEXS 40,000 35,000 5,000
SOty =50
40,000,000 40,000
=S 12,000




2A:

(GESESEN))

M JIE0| )] E2 SAAMHIA JMZB
=t ogde & EEED
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
| Al 28,000
Otsoderd Xgdl 29 7,000 7,000 0
201 2| 7,000 7,000
01 ArR2eltl 7,000 7,000
OO0ts0Hot™ XYt 29
7,000,000& 7,000
HLAELZSHE 2 311,435 284,673 26,762
| 83,140
Al 228,295
307 QI2Hol M 311,435 284,673 26,762
J| 83,140
Al 228,295
05 QIZtRIErZ 311,435 284,673 26,762
OFLEHZHIH 29
311,435,000 311,435
| 83,140
Al 228,295
EAUHESHE SAHAH ML 3,000 3,000 0
& 3,000
301 LB F 3,000 3,000 0
= 3,000
03 A3 B & A 62 (RIYTHA) 3,000 3,000 0
OBAEHSSME BAX HRIHAY]
3,000,000& 3,000
= 3,000
HAEHE2SEE WM - 7 WA K& 5,000 5,000 0
J| 5,000
307 QIZ2t01 A 5,000 5,000 0
| 5,000
05 QIZtRIEr S 5,000 5,000 0
OFALEULZotdY WM - W+ WXl K&
5,000,000& 5,000
| 5,000
HAE AAXN(GHEHAHE ANMEE XH) 320,192 180,600 139,592
= 160,098
& 80,047
Al 80,047
307 212+01™ 320,192 180,600 139,592
= 160,098
= 80,047
Al 80,047
1 ASI=SXAIEEE 320,192 180,600 139,592
OWdEAE AMES XI2AMS
320, 192,000& 320,192




S R E=FSE
2 JIF0] &)] E2 SAAMEIA WS

&2l g s (SH9 H2)

SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 160,098
=S 80,047
Al 80,047
SHELZZ dge N 4,500 80,845 NT6,345
< 1,350
Al 3,180
201 er23| 2,500 4,800 22,300
= 750
Al 1,750
01 At2teltl 2,500 4,800 22,300
O=HZEYEd =29 - 224|
2,500,000& 2,500
= 750
Al 1,750
301 22N = 2,000 0 2,000
< 600
Al 1,400
11 dALEEIXIZE S 2,000 0 2,000
O=SHEY ANUZALE 28 X2
2,000,000& 2,000
= 600
Al 1,400
O =S MoHA XIEAIE SAELG 21248 XI& 65,114 78,148 13,034
s 32,557
Al 32,557
307 @I2t01 & 65,114 78,148 13,034
& 32,557
Al 32,557
11 AMEISXAEEES 65,114 78,148 A13,034
OUY==TIaHA RARAAE SAHAF 121
A& 65,114,000 65,114
= 32,557
Al 32,557
HEZAANEXE (S+=224E) 25,800 24,000 1,800
=S 7,740
Al 18,060
301 LEtE NS 25,800 24,000 1,800
< 7,740
Al 18,060
03 AR 2E A5 S(XILH) 25,800 24,000 1,800
OEZSUEL SAN SEx22E
4,800,000 4,800
= 1,440
Al 3,360




2A:

(GESESEN))

3 IR0 D] E2 SAAMEIA MS
el olday 4 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
ONEERNSL BAX S4224E
6,000,000& 6,000
= 1,800
Al 4,200
O ZLIIN A ESAIE BAA E2F
=g 15,000,000& 15,000
< 4,500
Al 10,500
AR AN (BSAKE MM EHI) 13,800 13,800 0
= 13,800
301 EtE NS 13,800 13,800 0
< 13,800
03 A2 E A0S (XILTHH) 13,800 13,800 0
O =N ESAIE SAHL MRS
bl 3,000,0002 3,000
< 3,000
OJFEZ24GA BAX HLHAY]
6,000,000& 6,000
= 6,000
Od=5aEa SAH MRHAH|
4,800,000& 4,800
= 4,800
=Y 428 SSUS WA 2= 2ENE 25,800 10,000 15,800
= 7,740
Al 18,060
201 er23| 18,600 10,000 8,600
= 5,580
Al 13,020
01 AtR2te|HI 15,000 6,400 8,600
OssUEsE JI=2Zl 15,000,000& 15,000
== 4,500
Al 10,500
02 S5=24g4l 3,600 3,600 0
OJl== == ZE(SY Z2R2 S
3,600,000& 3,600
= 1,080
Al 2,520
202 04| 7,200 0 7,200
s 2,160
Al 5,040
01 =LHOHI 7,200 0 7,200
OHE == 455 SSUSE U0l
7,200,000 7,200
< 2,160
Al 5,040




2A:

X XH -
o=

Ol Z B}
JIE0l 40| E2 =SXAMHIA MBS
&R =X

L o =zl (19 @)
SA - B GR(31) - HIRAY - BES il &k e HlmS2
HEEHE 424 ZsUS LicHA XA 10,000 0 10,000

& 3,000
Al 7,000
301 LetEEZ 10,000 0 10,000
& 3,000
Al 7,000
2 AN BEA>HS(HUYHS, NYTHA) 10,000 0 10,000
OJFE=e - M= WK XA
10,000,000& 10,000
= 3,000
Al 7,000
225t #=s IIEXR AMUlA S 13,802, 121 14,076,993 N274,872
= 9,123,890
| 97,614
& 1,521,368
Al 3,059,249
AZNMEX2HE 29 457,934 320,167 137,767
& 65,970
Al 391,964
307 gI2Hol ™ 457,934 320,167 137,767
= 65,970
Al 391,964
05 2I2tRES 457,934 320,167 137,767
OAHZINEXNAEH 22
457,934,000 457,934
& 65,970
Al 391,964
ENINEF=RDNI=1 354,000 360,000 26,000
301 LPENZ 354,000 360,000 26,000
03 A3 B & A6 2 (XL THA) 354,000 360,000 26,000
OsdXE3 Xa 29,500,000& x 12& 354,000
AZNEXNZHE SAHA E2 2 22,800 25,200 A2,400
= 6,840
Al 15,960
301 LBENZ 22,800 25,200 22,400
= 6,840
Al 15,960
03 MBI E& A 262 (RILTHE) 22,800 25,200 A2,400
OALINEXAME EAT Sa224e
22,800,000 22,800
& 6,840
Al 15,960
AZNEXZHE SAER H<LIHA b 11,400 12,600 21,200




SN ofaE
3 IR0 D] E2 SAAMEIA MS
ChSl: 2A2BHD #=a IEX MHIA HZ (crol: m2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 11,400
301 EtE NS 11,400 12,600 1,200
=S 11,400
03 AR 2EHFS(XILHE) 11,400 12,600 1,200
OAHZIIXNAME SALAE X4 &
11,400,000& 11,400
= 11,400
AZNENNEHE 2SOIELEAL XH) 84,840 84,840 0
Jl 42,420
Al 42,420
307 elztol & 84,840 84,840 0
) 42,420
Al 42,420
11 AMEISXAEEXS 84,840 84,840 0
OAANENAHE SH(IISAEAS T2
) 84,840,000 84,840
Jl 42,420
Al 42,420
orolEs X 5,746,410 4,404,144 1,342,266
= 4,005,890
== 870,010
Al 870,510
201 er=3| 500 500
01 At22t2lt] 500 500
OOtolE=SAHIATIBI 2 THAIE AAHRISH
3 &g 100,000 5% 500
307 elztol & 5,745,910 4,404,144 1,341,766
= 4,005,890
< 870,010
Al 870,010
11 AMEISXIAEEES 5,745,910 4,404,144 1,341,766
OotoI=s XA 5,745,910,000& 5,745,910
= 4,005,890
== 870,010
Al 870,010
OlOIZ 20| SZ0gESHl NE 7,590 7,650 260
= 2,278
Al 5,312
307 elztol & 7,590 7,650 260
= 2,278
Al 5,312
1 AMEISXAIEEXS 7,590 7,650 260
OO0I0I=20I SZ0E Sl NE
7,590,000& 7,590




SN ofaE
3 IR0 D] E2 SAAMEIA MS
ChSl: 2A2BHD #=a IEX MHIA HZ (crol: m2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 2,218
Al 5,312
OlOIZ=20| Sot=s+E 18,000 0 18,000
= 5,400
Al 12,600
307 gl2to| & 18,000 0 18,000
=S 5,400
Al 12,600
1 ABIS XA EE 18,000 0 8,000
OO0lIS 20| YorsE4+Y
18,000,000 18,000
== 5,400
Al 12,600
101047 XI2 A 11,000 0 11,000
= 3,300
Al 7,700
307 el2to| & 11,000 0 11,000
= 3,300
Al 7,700
11 AMISXAIEEX 11,000 0 11,000
O120t1 X2 A 11,000,000& 11,000
== 3,300
Al 7,700
JHAAERIA oA X2 AHY 10,000 0 10,000
= 3,000
Al 7,000
307 elztol & 10,000 0 10,000
= 3,000
Al 7,000
1 AMISXAIEEXS 10,000 0 10,000
OJHAIAELA o4 XA
10,000,000& 10,000
== 3,000
Al 7,000
IR 3ISXI3AY 4,000 4,000 0
= 4,000
307 @120l & 4,000 4,000 0
== 4,000
11 MEISXAIEEXS 4,000 4,000 0
ORIDIIIE =K AL 4,000,000 4,000
= 4,000
A=et OtE Z2 10,000 10,000 0
= 3,000




SN ofaE
3 IR0 D] E2 SAAMEIA MS
ChSl: 2A2BHD #=a IEX MHIA HZ (crol: m2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 7,000
307 gl2tol & 10,000 10,000 0
=S 3,000
Al 7,000
11 ABIS XA EE 10,000 10,000 0
Ou=st = T2 2
10,000,000 10,000
< 3,000
Al 7,000
FI|I=0LlsE X2 121,055 112,700 8,35
= 34,370
Al 86,685
307 @20l & 121,085 106,200 14,855
=S 34,370
Al 86,685
11 AMISXAIEEX 121,055 106,200 14,855
O&JIS0tL=H 29 114,560,000 114,560
< 34,370
Al 80,190
OsUE SoILSH 2XE
6,495,000& 6,495
SS=0LlsH X2 119,092 109,692 9,400
) 55,194
Al 63,898
307 @I2t0| & 119,002 109,692 9,400
Il 55,194
Al 63,898
11 AMRISXAEEES 119,002 109,692 9,400
O3s=0lL=H 299 110,388,000 110,388
Jl 55,194
Al 55,194
OkEE S0tUsH Sitz
8,704,000& 8,704
HIUL0ISH NFA 6,824,000 8,626,000 A1,802,000
= 5,118,000
= 511,800
Al 1,194,200
301 LEtE N = 6,824,000 8,626,000 21,802,000
= 5,118,000
== 511,800
Al 1,194,200
01 A2 HSFS(RNEERTHE) 6,824,000 8,626,000 A1,802,000
OHLg0I8A XA
2,000,000& +3,412& 6,824,000




SN ofaE
3 IR0 D] E2 SAAMEIA MS
ChSl: 2A2BHD #=a IEX MHIA HZ (crol: m2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 5,118,000
=S 511,800
Al 1,194,200
DIE=TAE X 599,066 637,311 A38,245
= 94,500
) 32,714
= 80,941
Al 390,911
MASH (SIS SXAIE) 105,000 103,016 1,964
= 94,500
[ 7,350
Al 3,180
301 LEIE NS 105,000 103,016 1,984
= 94,500
== 7,350
Al 3,180
01 Al 2E A S(SREXMHE) 105,000 103,016 1,964
ORINSZTAIL AT S04
105,000,000 105,000
= 94,500
s 7,350
Al 3,150
Ad AR &g - XE KJ(2XHE SXAE) 7,208 5,75 1,452
Jl 3,604
=S 1,802
Al 1,802
307 21201 & 7,208 5,7% 1,452
Jl 3,604
= 1,802
Al 1,802
1 AMISXAIEEXS 7,208 5,75 1,452
OZIPIESXAIE P24 45 - g K
7,208,000 7,208
Jl 3,604
= 1,802
Al 1,802
2A0tE SXAE X 31,620 31,620 0
== 9,486
Al 22,134
301 2= 11,400 11,400 0
< 3,420
Al 7,980
03 AL 2 & A 263 (X E) 11,400 11,400 0




2A:

(GESESEN))

3 IR0 D] E2 SAAMEIA MS
el 2IIESAAIE XA (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
ORIDIS=XAE BAR S+224Y
11,400,000 11,400
= 3,420
Al 7,980
307 @I2t0| & 20,220 20,220 0
== 6.066
Al 14,154
10 AlRISTIAEEE 22X 20,220 20,220 0
ORIESTAIE 2 K&
20,220,000 20,220
S 6,066
Al 14,154
RIDIESXAIE AEAES 45,000 0 45,000
= 13,500
Al 31,500
301 EtE NS 45,000 0 45,000
s 13,500
Al 31,500
02 ANRI2HHHS(HAAS, NLHE) 45,000 0 45,000
ORIIEESXAIE Eakt N3 X
45,000,000 45,000
& 13,500
Al 31,500
2IHE SXAE 2E(2AHIS) 361,654 421,654 280,000
= 36,166
Al 325,488
307 @120l & 361,654 361,654 0
=S 36,166
Al 325,488
10 Al SXAEEE 22X 361,654 361,654 0
ORTDIE=XIAIE el2dl S
361,654,000 361,654
< 36,166
Al 325,488
IS SXNAE SAHT MW EH] 3,000 3,000 0
= 3,000
301 22N = 3,000 3,000 0
< 3,000
03 AIBIE & 2=5ll= (KILTHR) 3,000 3,000 0
OZ2APIESXAIE SAHA X <IH&H]
3,000,000& 3,000
== 3,000
ANEO0IES XIEAL (LIS SKIAIE) 31,584 54,265 N22,681
Jl 22,110




DR

=0l &0 E22 SXNAEIA HS
SIEESXAIE KR (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 4,737
Al 4,737
307 lztol & 31,584 54,265 N22,681
Jl 22,110
== 4,731
Al 4,737
1 ABIS XA X 31,584 54,265 ~22,681
ORIIEETAIL 00| SN~ XIS
31,584,000 31,584
Il 22,110
== 4,731
Al 4,737
A& JISELZRH(LRIIESIIAIL) 14,000 18,000 24,000
Il 7,000
== 4,900
Al 2,100
307 212+01& 14,000 18,000 4,000
Jl 7,000
= 4,900
Al 2,100
11 AMISXAIEEXE 14,000 18,000 24,000
ORIIESKAE JIsELX
14,000,000& 14,000
Jl 7,000
= 4,900
Al 2,100
= K& 7,672,344 7,726,934 A\54,590
= 26,400
) 5,643,888
< 877,098
Al 1,124,958
NaS sHR2I0t= X2 (=Hl) 558,104 621,104 263,000
= 167,652
Al 390,452
301 EtE N = 558,104 621,104 263,000
= 167,652
Al 390,452
02 A EE AT S (FANE, XLETHE) 558,104 621,104 263,000
OMAS &R2IHE XA(ZHI)
558,104,000 558,104
== 167,652
Al 390,452
NAS 82201E K& (32dl) 6,996,320 7,009,140 212,820
Il 5,597,056




2A: ™3
3 JIE0l &) £E2 =SAMEIA HS
&R SIRIIIE K& (SH &)

SN - B S(BH) - HBAY - BAS 0 &y e HIRS2
= 699,632
Al 699,632
301 LEBHZ 6,9%,320 7,009, 140 12,820
J| 5,597,056
T 699,632
Al 699,632
01 AIBIBEX LGS (2REXZE) 6,9%,320 7,009, 140 212,820
ONAS s2ER2IIE A=H| S NA(=4H])
6,99%,320,000& 6,996,320
J| 5,597,056
T 699,632
Al 699,632
Had S22 XA 58,540 87,940 29,400
J| 46,832
T 5,854
Al 5,854
301 EtEXZ 58,540 87,940 29,400
J| 46,832
& 5,854
Al 5,854
01 Al BEE4HS(2DEXE) 58,540 87,940 29,400
OFAYE s21 ots2%=Hl € KA
58,540,000& 58,540
J| 46,832
& 5,854
Al 5,8%4
g2 -8 X 6,580 8,750 N2,170
307 QIZ2t0IA 6,580 8,750 N2,170
11 AISIEXAIEE X 6,580 8,750 N2,170
onEz - & x=J| XA 6,580,000& 6,580
HAEED OIS2AFH XA 52,800 0 52,800
= 26,400
T 3,960
Al 22,440
301 EtEXZ 52,800 0 52,800
= 26,400
= 3,960
Al 22,440
01 Al BEE4H2S(2DEXE) 52,800 0 52,800
OFAEER ot=s2¢=H| X
52,800,000& 52,800
= 26,400
& 3,960
Al 22,440




2A:
X XH -
o e

=aak

(GE=ESES W)}
JEER0l &) E2 SXAEIA HE
Cr2aE XgAlel B XE

SA - ZE . BR(8) - HRAR - BES of v e HIDE2
CH23ts XI9Atel 28 XIS 1,467,021 1,341,612 125,409
Jl 482,864
== 138,732
Al 845,425
CHEebIEXEME 24 366,100 354,516 11,584
7l 121,180
=S 18,173
Al 226,777
307 21201 & 366,100 333,011 33,089
Jl 121,150
= 18,173
Al 226,777
05 212t =S 366,100 333,011 33,089
OU=sIEENEMH 28 A&
313,572,000 313,572
Il 99,850
= 14,978
Al 198,744
OUIRSDE - AST2 2YX
52,528,000 52,528
Jl 21,300
= 3,19
Al 28,033
H0Pt= ZE0/24 OIS AHY 5,940 5,940 0
Jl 2,970
= 445
Al 2,525
307 gl2to| & 5,940 5,940 0
Jl 2,970
= 445
Al 2,525
05 2I2tRIE S 5,940 5,940 0
OX0bt= ZE0[21A L0l At
5,940,000& 5,940
) 2,970
= 445
Al 2,525
CHE3HS stdD| Tt Atel2E ot e A= 181,800 179,000 2,800
Jl 90,900
= 13,635
Al 77,265
307 elztol & 181,800 179,000 2,800
Jl 90,900
[ 13,635




2A:

X XH -
o=

(GESESEN))
=01 &) £2 SXNAHA W3

Cel: GEsIE X9Ae Hg X (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 77,265
05 212t =S 181,800 179,000 2,800
OUEZsts &) U Ale|2E M2
-5 181,800,000 181,800
Jl 90,900
= 13,635
Al 77,265
CHESHE S4stAY 561,471 534,049 21,422
Il 255,594
= 38,339
Al 267,538
307 el2to| & 561,471 534,049 27,422
) 255,594
= 38,339
Al 267,538
05 21t =S 561,471 534,049 27,422
OltEahts S4datatg
561,471,000& 561,471
) 255,594
S 38,339
Al 267,538
s=0uE 29 24,500 20,000 4,500
) 12,250
& 1,837
Al 10,413
307 glztol & 24,500 20,000 4,500
Jl 12,250
< 1,837
Al 10,413
05 2ItRIE = 24,500 20,000 4,500
Ogt=0lu=s 29 24,500,000 24,500
Jl 12,250
s 1,837
Al 10,413
CHESDIEXNEAH SAHL S+22+E 20,400 15,600 4,800
& 6,120
Al 14,280
301 EtE NS 20,400 15,600 4,800
= 6,120
Al 14,280
03 A2 E A0 Z2 (XL THH) 20,400 15,600 4,800
OUEIIEXNZMH AL S+22+8
20,400,000 20,400
=S 6,120




2A:

X XH -
o=

(GESESEN))
=01 &) £2 SXNAHA W3

&l: OEaE Xg9Asl 28 KR (SH9 H2)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
| Al 14,280
CHE22IE X2 EEH SAHA M4 | 10,200 7,800 2,400
T 10,200
301 LPBNEZ 10,200 7,800 2,400
& 10,200
03 AlZ| 2 &6 2 (XY THA) 10,200 7,800 2,400
OUSRSIIEXJAEE SAHRH HRI0AH]
10,200,000 10,200
& 10,200
208 HHuws XA 12,000 12,000 0
= 3,600
Al 8,400
307 212+01 A 12,000 12,000 0
& 3,600
Al 8,400
05 QIZIRIEr S 12,000 12,000 0
OZE0|2T YT K&
12,000,000& 12,000
T 3,600
Al 8,400
C23PIE MEHE 29 8,580 8,580 0
= 2,574
Al 6,006
307 2I2+01A 8,580 8,580 0
& 2,574
Al 6,006
05 QIZtRIEr S 8,580 8,580 0
Ott2eits MEZHE 29
8,580,000& 8,580
T 2,574
Al 6,006
Ct22t0ts Ol=0 s K& 15,100 15,100 0
= 4,530
Al 10,570
307 212+01 A 15,100 15,100 0
& 4,530
Al 10,570
05 QIZtRIEr S 15,100 15,100 0
OCt=238t0ts 01890 s K&
15,100,000& 15,100
& 4,530
Al 10,570
G2t = A 27,000 24,012 2,988
= 8,100




O HRGEEE=En
Za: J150| A)| B2 SXMHIA HB

&l: OEaE Xg9Asl 28 KR (SH9 H2)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
Al 18,900
307 212+01™ 27,000 24,012 2,988
T 8,100
Al 18,900
05 2IZteEer g 27,000 24,012 2,988
OL23talE 2= 27,000,000 27,000
= 8,100
Al 18,900
Z20|8IXt =0 W=s 54,050 37,835 16,215
& 16,215
Al 37,835
307 212+01™ 54,050 37,835 16,215
& 16,215
Al 37,835
1 ABIZRIA 2 E 54,050 37,83 16,215
OZE20I2T BR0IDT K&
54,050,000& 54,050
= 16,215
Al 37,835
ST st=FAE HSKIE 14,000 14,000 0
& 4,200
Al 9,800
307 212+01™ 14,000 14,000 0
& 4,200
Al 9,800
11 Al =SXAMEES 14,000 14,000 0
O=EZ2ZXY e=2Ae HE K&
14,000,000& 14,000
T 4,200
Al 9,800
Ol=tid EAY 4lel - dz2&E MulA K& 10,380 10,380 0
& 3,114
Al 7,266
307 212+01 A 10,380 10,380 0
& 3,114
Al 7,266
11 Al =SXAMSEES 10,380 10,380 0
O0I=HHE &A4E A2l - M24E HHIA X
& 10,380,000& 10,380
& 3,114
Al 7,266
CtE2shts soiel2Y 2435 X 4,500 4,500 0
& 1,350

Al 3,150




DR
D IR0l D] 22 SXIAMEIA MBS

C UEsiE X9Ae B8 XIE (SH9 H2)
SN - B CRI(S]) - NISAY - BES A HIm=S2t
307 QIZ2t01 A 4,500 4,500 0
= 1,350
Al 3,150
11 AL SXAMEER 4,500 4,500 0
OU=2aet=E s0tel2Y #4838
4,500,000& 4,500
& 1,350
Al 3,150
CtE2ts AHd 22stsXl K& 21,000 18,900 2,100
T 6,300
Al 14,700
301 LetEHZ 21,000 18,900 2,100
= 6,300
Al 14,700
P2 A BEHHZ(HAHS, NYHA) 21,000 18,900 2,100
OUR&IIIE 4 ¢H28H5A Al
21,000,000 21,000
& 6,300
Al 14,700
CI23tXIad A8 XE 29 19,800 19,800 0
307 2I2+01™ 19,800 19,800
11 AMSIEXAEEX 19,800 19,800
OZ=0120A HPu=s K&
9,800,000& 9,800
OU23t=E MEXIA AS
10,000,000& 10,000
Ct23tE 2 2StE At 6,000 6,000
307 212+01™ 6,000 6,000
11 Al =SXAMEES 6,000 6,000
OCh2etE &= =23 ME A
6,000,000& 6,000
Z20|0At Relna 29 10,000 10,000 0
307 QIZ2t01 A 10,000 10,000
11 Al SXAMEE R 10,000 10,000
OZS0|21X Relna 23
10,000,000 10,000
CtEst=H 15,000 15,000 0
307 212+01™ 15,000 15,000
11 AL =SXAMEES 15,000 15,000
Ot=Zst=H 15,000,000& 15,000
0150 &M HE L B3 A 50,000 0 50,000
307 2Iz2+0l™ 50,000 50,000
11 ASIESXAEEX 50,000 50,000




2A:

(GESESEN))

3 IR0 D] E2 SAAMEIA MS
Cel: GEsIE X9Ae Hg X (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O0IS0 =A M & 25 At
50,000,000& 50,000
CrEshtE AlelSgze g Xd 23,000 23,000
307 gl2to| & 23,000 23,000
1 AMISXAIEEXS 23,000 23,000
OU=2=IE Melsezz I8 X
23,000,000& 23,000
=00l & UEshEXNEEds 29 6,200 5,600 600
201 2egh=3| 6,200 5,600 600
01 At2t2ltl 2,600 2,000 600
O=elx0 & LEaENEg2s] 32
=g 100,000 x 13 #2353 2,600
02 S3=gl 3,600 3,600 0
OXIU2AIE S gl
3,600,000 3,600
i=ol==a X 498,836 384,692 114,144
< 76,122
Al 422,714
= QIFCIXJHE 29 196,896 186,252 10,644
307 glztol & 196,896 186,252 10,644
05 2ItRIE =2 196,8% 186,252 10,644
O=el=0X2dH 22|
196,895, 1502 196,896
Q=015 =2 uS 15,000 15,000 0
= 4,500
Al 10,500
307 @I2to1 & 15,000 15,000 0
== 4,500
Al 10,500
05 2IR”tRIE = 15,000 15,000 0
Og=el=8l et=0lus XA
15,000,000 15,000
S 4,500
Al 10,500
=elsel 45XH 51,907 51,907 0
= 16,572
Al 36,335
307 @I2t01 & 51,907 51,907 0
s 16,572
Al 36,335
05 2IR”IRIE = 51,907 51,907 0
O=elx0l &g 51,907,000& 51,907
< 16,572
Al 36,335




2A:
PSR
ool

(GESESEN))

JIE0l &0] 22 =SXAHIA M2
CERIESIIE

SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
2= I=XHEH XA 30,000 0 30,000
& 9,000
Al 21,000
307 212+01™ 30,000 0 30,000
& 9,000
Al 21,000
05 QIZIRIErZ 30,000 0 30,000
OL|F2I=XIME XA 30,000,000& 30,000
& 9,000
Al 21,000
QFI=XME SR 70,000 0 70,000
= 21,000
Al 49,000
307 212+01 A 70,000 0 70,000
& 21,000
Al 49,000
05 DIZte|Eta 70,000 0 70,000
OLUReI=THE SATI
70,000,000 70,000
= 21,000
Al 49,000
KEF01 oIADfEE I8t 230 Ol =S 16,500 15,000 1,500
= 4,950
Al 11,550
307 212+01 A 16,500 15,000 1,500
& 4,950
Al 11,550
05 QIZtRIEIS 16,500 15,000 1,500
OXIY==01 QA E I8 230H2A 0l
W= 16,500,000 16,500
= 4,950
Al 11,550
Li2l=0210] #0ote 2t A8 Z2 )& XA 18,333 18,333 0
= 5,500
Al 12,833
307 212+01 A 18,333 18,333 0
& 5,500
Al 12,833
05 QIZtRIEIS 18,333 18,333 0
Ouel=2l0| #0ot=e 23t A8 T2
X3 18,333,000 18,333
& 5,500
Al 12,833
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ARG ESESESI
2

I @ AYs olEE X4
ol XNS2A Jiser AEH =0 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O32& Alat 2,000
—x e 500,000« 1 500
— 300,000 *3& 900
—&d 100,000& +6& 600
BH2IBJH(HEF L) 219,403 185,503 63,900
= 50,760
Al 168,643
el 2| 169,200 108,000 61,200
s 50,760
Al 118,440
=S 428 SSUHSHA SAL 2= 169,200 108,000 61,200
< 50,760
Al 118,440
101 @124H| 169,200 108,000 61,200
= 50,760
Al 118,440
02 JIEtME = 132,200 72,000 60,200
OJFZA y= BESHSHA LIIF(4
AL BALRE B2 132,200,000& 132,200
= 39,660
Al 92,540
03 SR (RIH )22+ 37,000 36,000 1,000
OE=S M= BEYSHA 2 (A
SlZ22lAt) SALG 24 37,000,000 37,000
< 11,100
Al 25,900
=34 50,203 47,503 2,700
Jl=23H] 50,203 47,503 2,700
201 er2 3| 20,503 19,423 1,080
01 AtR2telHl 19,440 18,360 1,080
ORANEgII123H 19,440
— eS| 40,0002 x18F 128 8,640
—=¢| 50,0002 x18F12& 10,800
2 352484l 1,063 1,063 0
ORER3 1,063
—S)IfH 2,530 #2501 633
—geged 4302 +1,00024 430
202 04| 26,100 24,480 1,620
01 =LHOLI 26,100 24,480 1,620
Oge=&II=20H|
120,000 x18F < 12& 25,920
O=24 =4 238 I=82 oyl
180,000& %1 180




S Ol E D)
HE: Y22 (014D
SCRIPIEE

> = -|ll_j
SA - HY - S9I(3) - HIRAY - BES ofl & e
203 HR=H] 3,600 3,600
M EAEER=A 3,600 3,600
ORNEgE =AY 300,000& * 122 3,600




